APPC

November Examination

Answer the following using nouns, verbs, and -ly words.

1. Determine the highest grade for Tally for the 1st Semester given that he turned in his 1st Quarter Portfolio on October 17th and the 2nd Quarter Portfolio on December 13th making the following scores.

	
	1st Quarter
	2nd  Quarter
	

	Overarching Process
	1
	2
	

	7 Systemic Parts of APPC
	2
	4
	

	Your Ability to Test
	2
	3
	

	Growth
	4
	2
	

	Inquiry
	0
	3
	

	Web Page/Free Choice
	3
	3
	

	Journal
	4
	4
	

	
	
	
	


2. What was your hypothesis for your proposed science fair project?

3. Give the specs for these 4 Cows. Identify the three functions d(t), v(t), and a(t).
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4. What is the Fermi number for the number of toothpicks in a light-year? Why?
5. If a person runs half of a 7.0 kilometer race at 7.0 km/h, and the other half at 11 km/h, graphically show the average velocity, and the time it took for the race.
6. The velocity of a skateboard moving on a straight sidewalk is given in cm/sec as a function of time in seconds by the following equation:
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What is the distance traveled between 0.5 and 1.1 seconds? What is the acceleration at 1.1 seconds?
7. Add the following vectors and identify the methods used.
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8. Graphically solve the following. A rocket enters a gravitational field that causes it to slow to a stop. If it has an initial velocity of 0.1c, and the deceleration is a constant 11g, find a) the distance traveled before stopping, and b) the time to stop.

9. If you were on another planet, what would the "reaction distance" be? How do you figure?

10. Using the information below, identify the position of the ball for the next 3 time intervals, the initial velocity for each interval, and the acceleration.
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11. An Army captain wants to fire an artillery shell deep into the enemy's flank. However, she knows that there are strong winds blowing above at height H that would blow her shells off course. If her artillery fires shells with muzzle velocity vo, what is the farthest that she can fire them without going off course?
12. Given this Velocity (m/s) vs. Time (sec) graph describe how to make your assigned segment A – B – C – D.
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13. How long would it take to circumnavigate the earth if you were accelerating at the rate of 0.17 km/hour/hour?


14. How many slugs are in a dan on the moon?


15. Verify that m/s/s = m/s2

16. As the bunny ran, we collected the following information about its x and y position at various times. Determine the following: a) a model for the motion; b) an equation of (t,x) and (t,y); c) The velocity at 7 seconds; d) The acceleration at 7 seconds; and e) the parametric graph.

	Seconds
	X (m)
	Y (m)

	0
	87
	3

	1
	20
	33

	2
	12
	37

	3
	6
	44

	4
	6
	49

	5
	7
	53

	6
	9
	56

	7
	14
	59

	8
	19
	59

	9
	36
	53

	10
	34
	48

	11
	18
	53


17. How would one need to move to make this velocity vs. time graph?
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18. Where would the center of pressure be for the following rocket with three identical fins made of balsawood (density = 140 kg/m3). The mass of the body of the rocket is 3.40 x 10-3 slugs.
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19. Model the rocket launch with an A8-3 engine in IP.
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